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| | o 21,262
HE23 HEsLH 80,500 103,500 A 23,000
& 3,000
= 77,500
SFWilzdA X 12,000 12,000 0
307 212t0| & 12,000 12,000 0
02 DI AAIE 2 X 12,000 12,000 0
Ognmilzd XA 12,000
-1 A 5,000,000& = 1JH 2 5,000
- = 3,500,000& * 1JHA 3,500
-3 ot 3,500,000 = 10 A 3,500
St MEH K 4,500 4,500 0
307 QI2t0| ™ 4,500 4,500 0
02 QI2tAAMAIE E =X 4,500 4,500 0
O&SUH K& 4,500
-1 A 750,000 = 23| 1,500
- = 750,000& * 23| 1,500
-3 of 750,000 * 23| 1,500
CHMH =R A& 15,000 18,000 A 3,000
& 3,000
= 12,000
307 2iz2to| A 15,000 18,000 A 3,000
= 3,000
= 12,000
02 QIZ2IAAAIE E X 15,000 18,000 A 3,000
O AS HotsFw 15,000
o= 3,000
= 12,000
HEANE D=2 NS 41,000 41,000 0
307 QI2t0| ™ 41,000 41,000 0
02 Q2B AMAIE E =X 41,000 41,000 0
OHENE D29 N 41,000
Z0AI HE X 3,000 3,000 0
307 212t0| ™ 3,000 3,000 0
04 SIZ2SHAAISHE E X 3,000 3,000 0
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307 2Iz2to| & 1,500 1,500 0
04 SIZ2SHAAISH E & 1,500 1,500 0
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04 DI2ZHHALALSE E X 1,500 1,500 0
OIS ANE HMe 1,500
HEAME M X 2,000 0 2,000
307 glz2tol & 2,000 0 2,000
04 QIZFHALALH 2 = 2,000 0 2,000
OHSHE HE 2,000
R BEFH 1,001,243 2,621,562 21,620,319
= 379,100
< 262,500
[ia 359,643
EM & E==FHI 586,000 2,190,720 A 1,604,720
= 218,000
< 184,000
e 184,000
EXNE 23N =+ 100,000 910,000 A 810,000
< 50,000
e 50,000
401 A& HIZ 201 8] 100,000 870,000 A770,000
< 50,000
e 50,000
01 A& HI 99,100 863,484 AT64,384
OEXNZE=Z3M 23t 99,100
< 49,550
s 49,550
03 Al 2 THHI 900 6,516 25,616
OZXNZEZ3M 23l 900
< 450
s 450
EXNE 23t ZH & 70,000 10,000 60,000
< 35,000
e 35,000
201 L4l 10,000 10,000 0
< 5,000
s 5,000
01 At 22l 10,000 10,000 0
OXNE=Zs M &X&Ld |X2cl 10,000
< 5,000
[ia 5,000
401 AIEHIZL 2 CHEI 60,000 0 60,000
< 30,000
[ia 30,000
01 A& Hl 60,000 0 60,000
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Mo R

402 212t A= 01 & 200,000 360,000 A 160,000
100,000
50,000
50,000

Mo R

HEZ(OIXMTHE) 200,000 0 200,000
O Mg A Ml 2=
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100,000
50,000
50,000

UL Y
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H
1
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o

150,000 570,000 A 420,000
105,000
22,500
22,500

HH W

401 AIEBIZ 20 150,000 570,000 A 420,000
105,000
22,500
22,500

Mo

01 A€ HI 148,920 565,811 A416,891

OF&eldt 148,920
104,244
22,338
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03 Al 2 THHI 1,080 4,189 A3,109
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o
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0
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10,000
,000

SUN
o
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H
S
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= 6,500
= 6,500
201 B2 F | 26,000 0 26,000
= 13,000
= 6,500
= 6,500
01 At 2t 2|l 26,000 0 26,000
ogsgtel 44X 26,000
= 13,000
= 6,500
= 6,500
SIS g &g 20,000 0 20,000
= 10,000
i 10,000
401 A& BIZ 201 8] 20,000 0 20,000
= 10,000
i 10,000
01 Al& tl 20,000 0 20,000
OEXNEEZM E+F 20,000
= 10,000
= 10,000
FoFo B2 415,243 430,842 A 15,599
= 161,100
< 78,500
= 175,643
SOA 22| 6,350 5,350 1,000
201 L2l 5,350 4,350 1,000
01 At 2t 2|l 1,750 750 1,000
OSUAMN = 125,000& * 23| 250
oZelEs +2 500
Odd=z2I| & 1,000
02 2322l 3,600 3,600 0
OS2UAL &IIA 100,000 * 12& 1,200
OS2UA 0l=D 300
OSUA ¢=H 350,000& = 6& 2,100
206 T 2 bl 1,000 1,000 0
01 M= bl 1,000 1,000 0
A RI= 1,000
ZsHAIE 7R 22 90,193 89,912 281
101 14 bl 4,141 3,860 281
M4 II2HZ22NSES 4,141 3,860 281
O=23M =HEH 51,760& = 80 4,141
201 B2l 34,052 34,052 0
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OSSHWUMAALY FHEAL42
150,000& » 64 « 123 10,800
OURNBREN SZ+42
600,000 » 20 A 1,200
OsdAI} 2a=HE 110,000& =+ 23l 220
O=stM ¢t EE2= MZ
250 * 10,0008 * 2& 5,000
Os"8A DI ReHHIAAE S XL
176,000& * 12 2,112
02 232gHl 14,520 14,520 0
O=ZstMetu® |X2el  1,500,0008 » 2942 3,000
O&IIANE FXH 400,000& = 12& 4,800
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100,000& * 12& 1,200
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OS3HH Al 2 8- | Al & R X bl
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OSSHYTHAIAE-0IE U3 &2
50,000& * 2JH 4 * 12& 1,200
202 04l 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
O2sMzelgd:e =& 2,000
401 Al HIZ 2018 50,000 50,000 0
01 A& HI 50,000 50,000 0
ORI MAIEE =+ 50,000
fERM s N 10,800 10,800 0
< 5,400
s 5,400
301 et a =z 10,800 10,800 0
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MIIEBE4d3 10,800 10,800 0
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< 5,400
s 5,400
doHJlgE 23l 117,000 117,000 0
= 81,900
< 17,550
s 17,550
401 Al HI K 2018 117,000 117,000 0
= 81,900
< 17,550
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